

$$e^{f_{\theta,1}[\lambda]} + e^{f_{\theta,1}[\lambda]} \in \left(f_{1,1}[\lambda] + xXf_{1,xx}[\lambda] + X^2f_{1,x^2}[\lambda] + xyf_{1,xy}[\lambda] + Xyf_{1,xy}[\lambda] + aYf_{1,aY}[\lambda] + \right. \\ \left. xYf_{1,xY}[\lambda] + XYf_{1,xY}[\lambda] + yYf_{1,yY}[\lambda] + Y^2f_{1,Y^2}[\lambda] + xZf_{1,xZ}[\lambda] + XZf_{1,xZ}[\lambda] + yZf_{1,yZ}[\lambda] + \right. \\ \left. YZf_{1,YZ}[\lambda] + Z^2f_{1,Z^2}[\lambda] + XZf_{1,xZ}[\lambda] + XZf_{1,xZ}[\lambda] + yZf_{1,yZ}[\lambda] + YZf_{1,YZ}[\lambda] + ZZf_{1,ZZ}[\lambda] \right)$$